- 2 countries
- 1 central bank
- Non-traded goods only
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(13) Home auxiliary variable pricing 1

(14) Home auxiliary variable pricing 2

(15) Foreign auxiliary variable pricing 1

(16) Foreign auxiliary variable pricing 2

(17) Home government budget constraint

(18) Foreign government budget constraint

(19) Home law of government expenditure

(20) Foreign law of government expenditure

(21) Evolution of Home price index

(22) Evolution of Foreign price index
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B) Variables: 25

(24) Home goods market equilibrium

(25) Foreign goods market equilibrium
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